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QUESTION PAPER CUM ANSWER BOOKLET

ELIGIBILITY TEST — 2011
Time : Two hours Max. Marks : 100
Min. Marks for Pass : 35

SECTION A — GENERAL ENGLISH
(20 marks)

1. Read the following passage and answer the questions given below : (5~ 2 =10)

Bibika Magbar, not only mimics but also resembles the great Taj Mahal in
Agra. Bibika Magbara, a tomb dedicated to Rabiya Durani, wife of Aurangazeb
located in Aurangabad. Ata Allah, Son of Ustad Ahmad architect of the
Taj Mahal designed it. Fifteen years separate the two monuments as also the
sheen, glamour and perfection. Near Aurangabad is located a small town
Khuldabad. In Khuldabad lies the great Mughal king Aurangazeb tomb, in a
manner he simple and bare. While Aurangazeb chose Khuldabad for himself
because it was religiously important he chose Aurangabad for his wife since it
was the royal city. Aurangabad was earlier known as Fathepur and was
founded by Malik Amber in 1610. It was renamed as Aurangabad in 1653 —
When Aurangazeb was the viceroy of the Deccan and the city served as his
capital.

(@) What resembles the great Taj Mahal in Agra?

(b)  Who is the wife of Aurangazeb?

(c) Who is the architect of the Taj Mahal?

(d)  Which city called as royal city?
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(e) What is the earlier name of Aurangabad?

2. Translate the following passage into Telugu : (10)

Sri Narayana Tirtha was born at the Village Kaza, in the Guntur district of
Andhra Pradesh. He lived between 1675 - 1745 A.D. His original name was
Talla Vajjhula Gollinda Sastri. He had his initial education with Sri Vasudeva
Pandita. In due course of time he renunicated the family life and went to
Varanasi to be a pupil of Sri Rama Govinda Tirtha.

Sri Narayana Tirtha wrote commentaries like the Sankhya Karika, the Yoga
Sutra and the Sankhya Tattva Kaumudi. All his works are in chaste Sanskrit
except the Parijatapaharanam, which is a Yaksha Ganam in Telugu. The most
popular work of Sri Narayana Tirtha is the Sri Krishna Lila Tarangini. It is
based on the 10t canto of Srimad Bhagavatam. It is a harmonious blend of
devotion, music and dance. He visited many religious places in Andhra
including Agiripalle, Srikakulam and Vedadri. He finally settled at
Tirupandurti, close to Tanjavur.

(BET - 11) 4
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SECTION B

Attempt either TELUGU or HINDI : (20 marks)

TELUGU

. RUAP=©2 gaimi> M. yb. $6° .8 C_ab (LN Uap=se éES peAis.yb -
(5 2 = 10)
0.8% (Rff &) eVu(;Mb E ESQuin.lz s UpsbTh. "eloiyljp D
HUSISZNSA> eVu(; IE L) GISPY ¢;8i.1Z NUC.._, 102 1Z 1816 67D "8l
300, Rj>ké, V.98, »E*_Yep, VisFoY, DFYE p, b{ S0 Ayssiip 3Oa b$
(e eIz NU(; B!Ee WSS03]. Fi6EoES 4.8 3p9SQU qulE>E$ !E W SZ ]
S0atp8 ~1Z Jii blEy$$b $§b 3rVﬂybE$ uIWp GplE $$b lgrd)..sj °E>Ay E.
D °pixj3t 1731 (61>°2 it p!E 5D | ¢$‘“03IED 05 3 SENS E3A*W E. ytiifa.
D .yi§ 'gsé D °bixel \/U$Dbb pprs# 9ES NUG.1Z 3r><y NUG..
D 3rxeiz° (3§} i elEy$ iy BI..1Z °Ch."pOyess. D Ey yE$ quﬁE>EIZpV>M
A bl %W{ 8. 6E1Z 13ty ecl I>Tap Créie U [yph i0sH.., Y2 6E VighsEs
E 6483,

@ U.§p* "€uckm ;ermenly. iz H pUsETZ NUC. ET 2

) U5 "GNCIMbIZ° PQh Wik>E 1258 HNgs?
() H EVICHME li..sf U..8* "€viih GlisPy ;&4i..1z NUC.._ "2

@ {356 WESEIZ RISEHS H BISE.1Z °Ch.Oyess?

©)  U.§* "€VCK"pIZ ¢t h E>ix@°li, [yb bhli H Cr$IEpS béyesjs?
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4. REAETS 3NC.39%

@ ESIES, Vofh. ES s

(5 2=10)
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e) Ve éth
@  OlisPEIS
3) By, SppeElis

3exjl ioonss.

@ YER{hlonss
@) U.X"pongs

)  »o$SENS
@) [UBENS

HINDI

3. ZrMo {X 0 J'0 n&§{°$'m| H¥mo n«T>H$a aiZm| H$m g_mYmZ

{b{l'oV&

(5° 2 =10)

amOm XeaW H$mogb amA® H$m emgZ H$aVo Wo, CZHo$
am_, bj U, "aV Amja elwUZ Mma nwi Wo& A'08> nwl am_
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~S>0 namH«$r VWm {Zd>mdmZ Wo& _hm{f© {didm{ |
CZHo$ Jwé Wo& amOm OZH$ H$s nwir grvm Ho$ gmw am_
H$m {ddmh hpAm&

(@ amOm XeaW {H$g amA’ H$m emgZ H$aVo Wo?

(b) CZHo$ {H$VZo nwi Wo?

© A'08>nwl am_ Hi$go Wo?

(d) am_ Ho$ Jwé H$m;{Z Wo?

) am_ H$m {ddmh {HSgHo$ gmW hpAm?

ZrMo {X 0 J'o dmS m| H$m nyaU H$a|Y& (5”2 =10)

@ BmijnXr nmES>dm| nEZr Wr&

7 (BET - 11)
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(b)

(©)

(d)

(€)

(1) H$mo

(2)

3) Ho$ @) H$s

{X,r "maVv amOYmZr hi&

(1) Ho$ 2 H$s

3 H$mMo (4) H$m
J8JIm ZXr H$m nmZr n{dl _mZm hi&

(1) OmVm ) OmVr
3) OmVo (4) OmZo
KmoS>m VoO hi&

(1) XmijS>Vr (2) XmoS>>Voo
3) XmoS>Vm (4) XmiS>oJr

AmXa H$amo&

_mVm-{nVm
(1) H$s
3) H$mMo

2 Ho$

(4) H$m

SECTION C — GENERAL KNOWLEDGE

(20 marks)

(i) INDIAN POLITY — (10 marks)

5.  Answer the following questions in the given space : (57 2=10)

(BET - 11)
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D {ii.. (302Ei$ °50.. b UERSSIZ FEOSES PEASSSS -

(@) President of India.

(8 BU3T.

(b) Preamble. )
;85 £>g8l.1i {380l

(c) Fundamental Rights.

(" 68aNSI RylSPES.

(d) Indian Parliament.

(B B8, .

9 (BET -11)
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(e) Telegana Agitation.

E, I>x8 ESDlEsss.

(i) CURRENT AFFAIRS — (10 marks)

6.  Answer the following questions in the given space : (57 2=10)

D (.. {30{eEis$ °50.._ " UERSSIZ FIEOSES PEASHSS :

(@) Electoral reforms.

G2 U..UPEX(ES.

(b) Political corruption.

B FIAS AN,

(BET - 11) 10
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(c) Terrorism.

E(iDES..

(d) Cricket World Cup.
(33 Jlls Ii3.

(e) Environmental conservation.

3i> 1ty 3CH, ix].

11

(BET - 11)
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SECTION D — GENERAL APTITUDE

(i) REASONING — (10 marks)
7.  Select the correct answers for the following :

D {5 360 UGAJST U6 TASSES VSC. s

(@) Find out the pair of words below, which is different from the other pairs

D (.. FEIZ NSWI D deésli ApS b §6.°° ViSC.. psss

(1) Le.rlnlther — Boot (2) Copper — Flower
"gE$ & O*r$ B & 3
(3) Wood — Box. (4) Sheep — Wool
P & 13 V6{F & E°? [ ]

(b) Find out the word which is different from the others

D {ii. B> rEIZ NSWI bésil A8 * 1 b VisC..psipss

(1) Ra(jm (2) Home 'I:heatre
HypA> RZEh A
(3) Cinema (4) Video
Uegp* OypAy™ [ ]

(c) A'is the Father of B. But B is not the Son of A What is their relation

AmwmswwmwwsApM Ii IoypSiS 1>38. IECHSHC HSiph

...... o §ipsfls?
(1) Mgther (2) Father
"l b4
(3) Daughter (4) Uncle
I8 <3S [

(d) Find out the next number in the sequence

D ALJE {IEpS..1Z "pH§3C AL IpS VISC.. pSihss

10, 25, 60
(1) 150 (2) 135
(3) 200 (4) 175 [ ]

(BET - 11) 12
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(€)

The fifth term in the given sequence is

D {li..” ADS{RISNSSIZ 1 Spib 3Sp0pSs S isC.. psipss
VBG, WCH, XDI, YEJ

(1) XEG (2) ZKF
(3) ZCK (4) ZFK

(ii) NUMERICAL ABILITY — (10 marks)

Select the correct answer for the following : (57 2=10)

D {i.” 3621 UCAIS US56 o188 VisC. Dines

(@)

(b)

(©)

A car takes one litre of Petrol to travel a distance of 12 kms. How many
litres of Petrol is needed to travel a distance of 240 kms?

Jii 1>58 Jii Tris 3{sZES'g 12 10.0S. PyssUS..". A 240 I.0OS. Thybibyéclii G2
Trij3(szES 1> 1?

1) 20 ’L\ts (2) 16 ’L\ts
20 1 rijs 16 1 rijs
(3) 18Lts (4) 22Lts
18 Trifs 22 Trijs [ ]

A Father is 80 years old. His Son is 40 years old. Find out the ratio
between their ages

Jii ".fyb BpAISUSY so U.Ippbi>ES. A'pe istp*Es° hASUS a0 U.MMpisES.
DEC BpAJSUSPE MSSph °Upt G..p?
(1) 3:2 (2) 3:1

3) 4:3 4 2:1 [ ]

A train takes 7 hours to travel a distance of 350 kms. What is the speed
of the train?

JI§ES 7 1..rE1Z 350 11,08, BAPX{US.". B HES BENS 6.7

(1) 50 kmph X (2) 80 kmph .
Vi... rli$ 50 1i.0S. Vi...rli$ 8o 1i.08.
(3) 70 kmph (4) 60 kmph

13 (BET - 11)
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Wi, IrliS 70 1.03. Vi, rli$ 60 11.0S.

(d) A cow is bought for Rs. 5,000 and sold it for Rs. 6,000. Find the gain

percentage

Jli BI1S . 5,000 i 16°, . 6,000 lif §6°° AMSIHS. “5.. 7 18¢j>"pSs 8
17816 DS3p86

(1) 20% (2) 50%

(3) 40% (4) 30% [ ]

(e) A person deposits Rs. 50,000 in a bank for 4 years at a simple rate of
interest 20%. The total interest is

Jii 5 5%, 50,000 8 "EESHS U.E I>18°K YETE 20 (>TSS pyh
»h.JS1Z y”ehs) "5l ha dyb

(1) 20,000 (2) 30,000
(3) 40,000 (4) 25,000 [ ]
SECTION E — SCIENCE
(20 marks)
(i) PHYSICAL SCIENCE — (10 marks)
9.  Select the correct answer fo_r the_following ; (10" 1=10)
D {li..”" 3¢°li UCAS D UBr™56 mngs i ViSC.. s :
(@) If there were no atmosphere the sky would appear
DnEIpxy.. iS..sf BISY.. D §.\81Z 1i°308..”
(1) Red (2) Blue
Giii> +£.1>
(3) Black (4) White
P> e [

(b) Identify the ore of aluminium
AEINGeAS.. EA. Q°g8°2 ViSC. pemss
(1) Galina (2) Cinnabar
iiré Upélj

(BET - 11) 14
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3) \Pyri,tes 4) BAauxjte
3Hsyp »elllpsy

(c) The gas which is abundant in atmosphere?
DENEINx..1Z GHSPINT> E;ispsAjsh V>0 H -2
(1) Nitrogen (2) Oxygen

WsZF Blibf )
3 Carl_aondioxide (4)  Sulphurdioxide
I>ih yb Blibyp UEL yb Blibyp [ ]

(d) Telephone was invented by

STRELE e

(1) A. Graham Bell (2) Thomas Alva Edison
G. {li3j.. »lj £6i5U AT&0 GybU b
(3) Madam Curie (4) Robert Hook
DpSy1aps i AE O Ry [ ]
(e) The components which are mainly responsible for destruction of Ozone
are
KoZ'1$ “ <678 N_e1apss "pUS 2 356517 8pSpsf ™
(1) CkC (2) DDT
gk 3NE) 1> pp DDT
(3) CH, (4) NOX
NSE D Blibyh Be pisZ [ ]

() Which of the following is not an oxidizing agent?

D {i..” 6°1Z Blibybh. Ji Hyj.. r$ 1>°8 2

(1) H,0, (2) MNO,
Ryyaf b BE>libyp i iU yp Blibyb
(3) Kclo, (4) caco,
“:SBUAJS.. BElibyp I> 1 AySEpS I>E6% psy [ ]

(g) ldentify the element which is not radio active

D {ii.” 16s{1Z GybAj* A< 1> 8= EI>©2 1iSC. ghss

15 (BET - 11)
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(1) Radon (2) Sodium

ByéT YiypAjs..
3 Tho“rium (4) U raniL{m
£aCAS. RysseioAyS..

(h) ldentify the instrument used for measuring earthquakes

o<1, BE7D8 16 1 3CHE>°2 VigC.. 90hgs

(1) Suismography (2) Pentagraph
UYii>e 3,58
(3) Barometer (4) Sextant
0 g Ulips..sy [ ]

()  Electricity is produced due to the flow of

Osj {306Ry... E D Nskoh "A*5$ AtpedS..

(1) Electrons (2) Protons
GE[> ["ls&pp
(3) Neutrons (4) Positrons
ke “8U(s& [ 1]

(1) Identify the Scientist who discovered the law of motion

MED U*PEE s BNUPC... >0y b ViSC.. psipss

(1) Issac Newton (2) Michael Faraday
16 bl HIR1j , Eyh
(3) New land (4) John Dalton
elie.y 0E D yEED [

(ii) NATURAL SCIENCE — (10 marks)

10. Choose the correct answer for the following : (10" 1=10)

D {i..” 161 UCA{S D Unb™56 19088 1S ViSC.. s :

(@) What is the fastest growing plant?

AT SR> GV SSHP H 2

(BET - 11) 16
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(b)

(©)

(d)

(€)

(1) Casurina (2) Eucalyptus
0o0hr$ ST EN
(3) Bamboo (4) Palm tree
IHINAN "ésy s

Which of the following is a mammal?

D {ii.”" 6°1Z ,if5mpss H 2

(1) Frog (2) Fish
Mu3u /\p3

(3) Crow (4) Cat
Il 3

Which of the following animal is used to track smell or scent?

DEUD §E08> VISC..p VilWp .. p0e H "2

(1) Cat (2) Pig
3] 3 -
(3) Dog (4) Dolfin

li$liP yeip

Which of the following is described as a Pachyderm?

B0, 008 pejionss VIE .. "p%pe ©° .. 82

(1) Horse (2) E_Iephant
[ Hpslis

3 Cro.pgdi le (4) Goat
pssUT 3ol

Which of the following is not a contagious disease?

A.r$hel I>og 2

(1) Cardio-vascular disease  (2) AIDS
Rj-Sahlinhgs GF8Sypp
(3) Jaundice (4) SARS
>SS Yétjh
17

[ 1
[ 1
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[ 1
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(f)  The Chief controlling organ of the human body
pgeU° AT UEF (EVRpss H -2

(1) Brain (2) Lungs )
88py1s F3C1"pSES
(3) Heart (4) Kidney )
8.y S<{1h3, yéES [

(@) Which \(Ii:tarr.}in is PresszntNin leafy vegetables?
BISI*HEIZ E;jlpsAjsh NrNgh H -2
1 B 2 A
3) D (4 C [ ]

(h) What causes ‘Malaria’ fever?

pSTCA™ 05 G.. 588 pUS.. 2

(1) Mosquito @) Water
SotpSENE 5 D

(3) Food (4) Vegetables
Ba. 1 PROAKE HET .

()  Manufacture of cheese based on which activity

K08 "A*ETZ NeAy*iisyp (3[iiAjS

(1) Bacterial (2) Algal
»elliCASI BEIj
(3) Fungal (4) Viral
e. il el [ ]

(1) Mitochondria is also called as

pSSZRE..[ybAI*BS D NEIESSI> liyé A.. §iS

(1) Cristae (2) Chromosome

(BET - 11) 18
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{liU I

(3) Lysosome (4) Power houses of the cell

T¥igzZaps lixjGiv>E>ES [ ]

ROUGH WORK
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